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FAME DATE

[Flaces Friai]

COUMTRY AGE_

PLEASE READ INSTRUCTIOMS CAREFULLY

On the following poges are o number of interesting problems for yob to
sobve, Some of the problems may be more difficult than others, but the answers
to all the problems may be readily found with clear thinking.

A3 you tura to each new sechion, read carefully the instruchons given for

thert sechion, then pracsed fo bry 1o find the answers b ol problems,

Wark as guickly ond o5 occurotely os you can. Do net spend foo much

tima an any one prthqrn.. Do vour Figuring n the spOoces pn:'.riq:lud.

Please return this bocklet te vour test administratar when you hove finished.

EEAD THE ABOVE IMSTRUCTROMS
AGAIM THEM TLIRM T THE MEXT
FAGE ANMD BEGIM.
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SECTIOM |

DIRECTIOMS

QM THE MEXT PAGE YOU 'WILL BE JIVEM FROBLEMS SIMILAR TO THE EXAMPLE SHOWWH BELOW. IM EACH PROBLEM
YOU 'WILL FIMND THAT THERE 15 A CERTAIM EBLATIOMSHER BETWEEN FIGURE “A" AWD FIGURE “B"

D

CETERMIME THE RULE THAT CHAMGES RGURE "A” TO FIGURE "E", THEW DRAW BW SPACE "O7 A FIGURE WHICH 15
RELATED T FIGLURE "C" AS RGURE “B" 15 RELATED 7O FIGURE —A",

A B C D

P Kk

MOTE THAT THE CHAMGE BETWEEM FIGAURES A" AND "B" AMD BETWEEM FIGURES ~C° AND D" 15 THE SAME,
THAT 15, IN EACH CASE, THE BLACKEMED AREA HAS BEEN MONED 3 POSITIONS COUNTER CLOCKWISE.
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SECTIOM Nl

DIRECTICNS

READ EACH QF THE FOLLOWING FROBLEMS CAREFULLY. PLACE AM "X IN THE PROPER BOX, DEMOTIMNG WHETHER
THE COrCLUDING STATEMEMT IS TRUE OR FALSE

TRUE FALSE

1. All shudents in the closs are fernale.
All female students in the class are married, D D
Therefare, all duvdents in the closs must ba married.

2. David likes to play all kinds of sports,
But o3 some sports are dangerous, D D
Then David must olways be in danger when playing sparts.

3. Tom is older than Ed, ;
30 Tom conmal be older than Bob, D D
Since Bob is younger than Ed.

4, 3ome planes are dangereus fo fly,

This iz a carga plane, ' [] i
Therefore, thes plone must be dangercus to fly, ]

T OEE B s e m me e

3 Water will flow inta the tank:
If valves “A" gnd "B are opan af the same time,
Or if volves "C” and "D” and “E" ore open at the same time, [] ]
Or if all valves are open at the same time.
Therefore, no water will flaw into the tank if only valves “A"
and "C" and “E” are open ot the same fima,

& The lamp will light:
if switch A", but not switch "B" is in the OM position,
Or if switch “B”, but not switch “A" is in the ON pesition. ] ]
Therefora, the lamp will not light if either switeh “A” ar “B", but net
beth, is in the OFF position.

7. "D is larger than A",
And “E” 5 smaller than “B",
And since “C7 is larger than "A", o D |j
And “A” i smaller thon "B,
Then we con asume that “A™ is the smallest,

www.thecorememory.com



The Core Memory Project

SECTION NI
DIRECTIONS

IN THE FOLLOWIMG PROELEMS, THE MISSING DIGITS ARE TO BE DETERMIMED. EMTER THE CORRECT AMESWERS M
THE PROIPER SPACES.

1. Two numbers ara multiplied together. Letters are used to represent the digits, each of which has a
different numerical value, 0 to 9. Find the value of ssch leHer which, when subshiuted into the
problem, will preduce the correct produe.

C E H AMSWERS A— =

s ¥ =] 7 B == Ha=
& 4 B ] =
1 c A g D=
cC G E 4 ==
C A A3 F D F=

4. Two numbers ore odded together. Lefters are wied to represent the digits, soch of which has a.

differant numerical value, 0 ko 9. Find the walue of eoch letter which, when substitvted into the
problem, wifl produce the esrrect sum,

o E B ANSWERS A= E=

N D E € Bam M=

A T A B D - T
D=

3. Two numbers ore multiplied tagether. Some of the digits are given and the remainder of the digits
are represented By squores. Find the missing digits necessary to produce the correst produet.

O 7 0O
(34 -
] 0O 3 O
O ¢ «+« [
<[ SO o A
O "0 O v 4
&
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THES PAGE MAY BE LEED FOR FIGURIMG
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DIRECTIONS

STUDY THE FOLLOAWIMG EXAMPLES WERY CAREFLILLY.

SECTICN IV

IMPLIT

EXAMPLE

IMYERTEE

QLITPUT

The terms usad in the above figure ore defined as fallaws:

Iverder— a devics which takes whatewsr iz put inba it, and changes it inha
st the opposite condition when it is token out,

Input  — thot which is put into the inverter.
Ouiput — thot which is taken ocut of the inverter.

STRUES

EXAMPLE
(mput]

To illustrate further it is shown that any “TRUE
will produce a “FALSE" output,

"FALSE
EXAMPLE

IMWERTER

“EALSE"

|inpast]

f-WERTER

loutput}

T candition put into the invarber

“TRUE™

[earipes]

Likewise any "FALSE" condition put into the inverter will produce o “TRUE"

aufpul.
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READ EACH QF THE FOALCYWIMG THREE PROBLEMS CARSFULLY. SOLYE THEM BY LSIMG A SIMILAR APFROACH AS SHOWM
i THE SAMPLE PROBLER.

1. GIVEM CORDITICMNG: Anyhme thot either “A” is TEUE or “B” 15 TRUE than the input fo the irverter is

TRUE.
PROSLEM:-  What will be the state of the output of the mwerter if "A" and "B” are beth
FALSEZ
A B
IMFLIT CuUTPLUT
¥ IMYVERTER *
AMSWER

2. GIVEM CONDITIONS: Only when "A" is TRUE and "B is TRUE af tha same time will tha inpat to the
inverter be TRUE.

PROBIEM:  When will the autput from the inverter be TRUE in ferms of ihe states of "A” and
“B"¥ lIdentify the sfate of " A" and "8 i ecch of the J enswers youw show below.)

A B
INPUT QUTeUT
IMVERTER -
ANSWERS |- 5
R A
3
5
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3. GIVEN CONDITIONS:

If "A” and "B" are TRUE at the same time, or if “C" is TRUE by itself {regardless
of the states of “A"" or "B"), then and only then will the inverter input be TRUE.

PROBLEM:  When will the output from the inverter be TRUE in terms of the states of “A", “B"”
and “C"2 (Identify the state of "A", “B" and "C" in each of the 3 answers you
show below.)

A|B C
INPUT QUTPUT
> INVERTER >
ANSWERS I-
2-
3
&

www.thecorememory.com
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THIG PAGE MAY BE LISED FOE RGURIMNG
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EECTION W ;

DIRECTIONS

THE FOLLOWIMG PEOBLEME ARE OF A PURE LOGICAL MATURE. THEY DO NOT IMWOLYE ANY PLAY O WORDS, DE

LIBERATELY DECEPTIVE STATERMEMTS OR GUESS WORK. IT WILL BE MECESSARY THAT THE EXAMPLE SHOWH BELOYW BE
STUDIED YERY CAREFUILLY.

EXAMPLE
1. 1 SALLY is married to SAM, then GLORIA &s not married to JOE.
2. I JAME is married to SAM or JOE, then SALLY is married to ED.
3. If SALLY is morried to ED ar JOE, then JANE is marriad to SAM,
WHAT 15 THE NAME OF EACH WIFE'S HUS8AMNDS

The necessary information to solve this problem is given in the form of three conditional statements. To
kesp track, mentally, of the many facts and conclusicns is difficutt. To simplify the solution a chart is usad of the
tvpe shown below. An "F" [for FALSEl and a “ T [far TRUEI i entered in sach square as determined by the con-
clussan derived from eoch, stotement,

Let ws |:|-=5i11 h}' ussuming that satemant 1 is TELIE, ang "SALLY i morried fo SAMT. ﬁ.:mrdingly, aTis
entered in the square opposite SAM in the column headed SALLY. F's are entered in the squares remaining op-
posite SAM, and n the squares remaining under 3ALLY, since o husband or wife can have only one spouse,

Alsa from staternant 1 we read, “then GLORIA iz nof married fo foe”. Enter an F in the squore opposite
JOE and under GLORIA, Hence, the chart indicates JAMNE must be married fo JOE

However, according to statement 2, “If JANE is morried to SAM or JOE, then SALLY is married te ED". This
chearly contradicts our original assumphion fram stotement 1, that “SALLY iz movried to SAM™.

Therefore, we must reject our eriginal asumption from statement 1 and state, "SALLY is nof married fo
SAM",

| JAME SALLY CLORILA,

|
SAM | F T F
i I
1 E !
IOE | F | °F
| i* l
. |
ED L ¢
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We continue by constructing @ new chart shown belowl bosed upon gur new assumption from sfotement 1,
that “SALLY is not married to 5AM”. Enter on F opposite 5AM and under SALLY. This leads us to statameant 3, that
states “JANE is married to SAM”. Hencs, a T can be entered opposite 5AM and under JAME, and Fs con be
enfered in the remaining squores under JAME, and also in the remaining square opposite SAM,

Then from statement 2, we conclude thar “SALLY iz morried ro ED". Enter @ T eppasite ED and under
SALLY, ond F's in the remaining squares oppesite ED and in the remaining square under SALLY.

ln order to complate the chart it fallows thot GLORLA i married to JOE. Enter a T opposite JOE and undar
GLOFRLA,

JAME SALLY GLORIA

| T T | F i F XIER
{ ' JAME is married te SAM.
' : SALLY is married to ED.
e . GLORIA is married to JOE.
| ; |
B f F T | : |
|
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BE SUEE YOU IFMDERSTARD THE PRECEDIMG EXAMFLE SOUVE THE FOLLOMWIMG THREE FROBLERS USIMG A SIMILAR AP
PROACH AS SHOWN IN THE SAMPLE FROBLEM. EMTER THE CORRECT AMSWERS IM THE PROPER SPACES,

1. ALICE, MARY and WAMDA will marry BILL, JACK and JOHN in one order or

anather,
BILL is o baker.
MARY is not angaged to the farmer.
The solesman’s future wife is not ALICE.
JACK is engaged to WAMNDA.
JOHM groduated from an agricultural schaal.
WHO WILL EACH OF THE GIRLS MARRYZ

ANIWER

WAMNDA will marry

MARY wwill marry

| ' i ALICE will marry

o B e o e o e e o e o e e e e e e

2. EARL, DAM, ADAM and MORMAN each own a cor. One owns a blue car,
ong owns a white car, one ewns a red car, and aae ewns a black car,

EARL and ADAM were in the porking lof the afternacn the cwner of the red
ear drove his car out of the parking lot.

Both the cwner of the black car ond DAM hove had friendly discussions
about international politics with the owner of the white car.

Tha cwner of the black car, who has taken a phetagraph of HORMAR, will
be infroduced to EARL nest wask,

WHAT COLOR OF CAR DOES EACH MAN QWi

i | AMSWER
| | !
| T
| I EARL own: o — cor.
i ' DAM pwns o . oar.
! ADAM owns @ __ car.
_ BMORMAM gwnz a ____ ar,
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THIS PAGE MAY B USED FOR FIGURIMG

www.thecorememory.com



The Core Memory Project

1 Four meaningless 'Figur:s 4, 5 & and 7 represent four m-uning|ﬂ!. symbals
C. D, Eand Finane arder ar ansther.

If 4 is not D, then & is mat E.

£ 5 is wither E or F, then 4 is D,

IF & is not C, then 5 &5 F.

¥ 7 is E, then 5 is not D.

f 7 is not D, then 3 is D.

WHAT ARE THE SYMBOLS REFRESENTED BY FIGURES 4, 5, 5 AND 7¢

ANSWER

. —— 15 represented by 4

— is represented by 5

— is represanted by &

| . 5 represented by 7

THE 25ACE BELOW MAY EE USED FOR FIGURIMG
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DIRECTIONS
aTliDY THE FOLLOMWENMG PROBLEM CAREFULLY. THEM FRONVIDE THE AMEWER AS IMSTELCTED,

4. A systern of papes, connected to o pump and o turbing, is completely full of
waier, Ploce 4 spring-loaded valves in their proper valve seafs (see gxomple
below!, 3o the turbine will always be turning in the direction of the arraw
while the pump is cperating.

EXAMPLE

With the valve insarted a3 shewn, walber 2an
flew anly in the direction of the arraw.

YALYE
EE"T‘:\'M'I'E
= 4
_—

Pl A A

0
W r.d
1]
=i

X |

%

TURBIME
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SECTION W1

DIRECTIONS

STUDY THE FOLLOWING PROBLEME CAREFULLY, DO YOUR FIGURIMNG 4 THE PAGE DFPQSITE THESE FROBLEMS, EMTER
THE CORRECT AMSWER IM THE FROPER SPACE.

1. H 90 velts couse a current of 3 amperes to flow through a circuit of 30 ohms
resistance, and if &4 volts couse o current of 3.2 amperes to flow through a
circuit of 20 chms resistance, how many amperes will flow through a circuit
of 500 ohms resistonce when connected to o voltage of 125 valts?

AMSWER -

9 SOIVE FOR X: 4% — 3 = 2% &+ 7

AMEWER,
3, ADD: - 444 4. ADD: 1 343 5, SUBTRACT (B] FROM |4)
— 543 — 417 LAY + 873
+ I Bl — 349
ANS. SR ATeane
ANE, AME

& A1 7:30 in the maming the temperature reading wos 7° above zere, Até:30 n
the afternoon the temperature had droppead ta —11°. Assuming that the rate
of decreaie in rerfiperatere hos been canstant, ot what hme did the tempera:
ture reach —3"¢ :

ANSWER

--------- JITIENTRTIER TR TR LI L ERERTT]

7. The total resistance of a circuit consisting of twa parallel resistors is equal te
thie preseet af the bwo resistonces divided by their sum, 'What i the tatal re.
sstance of o circuit of fwo parallel resistors of 120 ohms and 180 ohms
respachivaly®

AMSWER

B. The perimeter of o rectongular garden is 48 yords (metersl, The length of the
garden is 2 yards [mefers) more than thres imes il width. How many yards
[reters] wide = the garden? (Uze ﬂ'u: English or Metric System, whichever you
prefar.}

AHEWER
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THIS PAGE MAY BE LISED FOR FIGLIRING
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% A room 5 14 feet Imeters) |¢:|r|-_e;| ond 17 feef Imetass] wide. The floor is 1o be
coverad by lincleum with a black border 18 inches {centmeters) wide extend-
ing enfirely around the room. How many square fesf [maters) of block border
will be used? IUse the English ar Matric System, whichever you prefer.]

ANTWER .

10. The ompera labbreviated amp.] is the basic unit of meawurement for current
flawe. [f the eurrant flow is smaller than eae ampere, tha unit of meosure vsed
s the milliompere [obbreviated mo.l which 15 equal to one-thousandth
arpere. For currant flow less than ane-thausandth ampere, the unit used it
the microompere obbrevioted wa.l which 15 equal to cae-millionth ampare.

Four transister circwits are connected to a battery.

The current flow in the first circunt 15 1.84 amp.
The current flow in the second circuat 15 235 ma.
The curreat Flow in the third ercuit is 176 va.

The current flow in the fourth circuit is one-fourth of the sum of current
flaw af the first and third gircuits.

WHAT I5 THE TOTAL CURREMT FLOW OF ALl CIRCLITS?
AMSWER

L, A s VR, Lowee 5% N owm—2 S=4a) X=2 R=W4l
THEREFORE 5 mm &

ANSWER 5 =

12. FACTOR: 2ab — &be 4+ 10bd

AMSWER

13, There is one path leading to the top of a hill. A hiker travals of the rote af
4 miles per hour uphill and 12 miles per hour downhill, If he spends no time
at the summit, what will be his average speed for the entire tnip?

AMNSYWER
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THIS PAGE MAY BE LISED FOR FIGURIMNG
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14, An electric temer contrzls 5 indicator lomgs = A, B, C, O ond E In it simples)
Form, Fhis fimer may be comparad te an electric clock whese hond indicating
seconds operates 5 switches which are wired to 5 lomps. Under the following
gi'-.'e-n congditkons, the |i-ghrs fimsh n'-umn:muril}' far less thon one secand at
perfectly synchronizad infervals.

1. Light & will Flazh at regular intervals of 12 secands.
2. Light B will flash 10 times per minute at regular intervals.

I, Light C will flash svery Znd secand except at instants when Lights B
and [ but nat Light A flash.

4, Light D will flash 4 times o3 aften as Light A.
5. Light E will flash every insfant Lights B or C but not Light A flazh,
&, Af the first secand after the timer starts running, Lights A and B and C
and O but not Light E flash simultaneously,
CUIESTIONS

a, HOW MANY TIMES DURING THE FIRST HALF-AMINUTE DO LIGHTS B AMD O AMDG E
FLASH SIMULTAMEOUELYY

ANTWER

b, HOW MY TIMES DURIMG THE FIRST HALF-MINUTE DOES LIGHT C FLASHE

AMSWER

2 HOW MARY TIMES DURIMG THE FIRST HALFMIMUTE DOES LIGHT E FLASHY

AMSWER

—

=man
—
e B

R e o by o] e e

P A ARIM B S1IRE v ) HEVFE
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GEMERAL DIRECTIONS FOR ADMIMISTERING THE 5.5 TEST
TO THE TEST ADMINISTRATOR:

PREPARATION

In addifion 1o your thudy af Heese directicns, vou thauld tarsughly femiliarize yoursalf wirh gll_ paris of Hes hes I’erhq:!pu- s
best woy for you to da this is by toking the test yoursei! in 6 bana fide mannar, Thus, you cen eeficipete many of the questians of
the ewaminers who da mat hove a hull command of the given lorguegs,

The explonations of sach sample problem showld suffice for the exemines fa goin @ lull underitanding of the over-all scape
of g given bobery of guestians, Howewer, if osked for turther explanation, you may deling cestaln wards ar rephrase a cerfoin
sentance in different worde Thie m anly Far thets sxominess whe heve diffssulties wadariianding the given explanaticns ar ques-
o dus fe o lenguege berrier,

TEST MATERIALS
Bach sxomines would b= provided with:

§A] Test bookle
(8] Twwa sharp pencils with erasers
] Ruler
Yau should kesp o watch hondy in arder ta record the exect sorteg ond sbapging tima in the spoces prowided on the back
dicle af this theat . _ &

EXAMINATION A0

A clock should b= in view for He ssomines o chserve

Tesling should be comducted in a room which prosides good lighting, ventilation and g pleasant simeighers, 1T 15 APERA.
TIVE THAT THE ROICW 15 FREE FRIOM MOISE AMD DISTURBEAMCZES

Emaminess should be provided with recsanobly comiortoble sears ond desks ar fobles with o weficienily farge writing wrfzce.
In oase @ group of persons is hested, exominees showld be sected @ such @ way thot they will not be fempesd o losk ab the-
angweri of athers ond so thof you con give an individeal langurage assistonce, i necessary, withaur disrurs 'ng the cthers,

YOUR AQLE DURING TESTIMG SESEICMS

. Yau should ate=pr to put the exominess af ease Chesk with shem o ses whether or not they are fred. Fou shauld =xrailish
and Maintein a werking cimosphers without produdng an oir of nervous fension. DISTURBAMCES ARE TO BE AVOIDED AT ALL
COST. Answer [egiimate questions that may be oshed, but do nof eloborate on explanctions or insiructians, It is essental thei
yeu shary withi the Secning ond, as for o3 possible, use the words printed on the test poper or synongms therecd,

. h‘l’w are 1o abserve the exomires cledely during e tas emd regeed his reactiond in the sposes provided on the back side
al thix sheet,

Emep trock of Hee lime and codlecr ke st pepar gfier thres (71 houre of werking lima. Maks wure the axomines does mal legwe
with the bt bookiat, ‘

FEAD TO THE EXAMINELE THE FOLIOWIMG GEMERAL DIRECTIONS LOUD AMD CLEAR.

“This test i divided ifa iz gechionr, soch of which consiits of o group of refaled problems. Somple probiess with praper
saplanations ore given in asder ha familionze you with the different fypes of problems and o acquaind yow with o methad for
iciving them. You probobly will Fed jome of the problems guwile eary and others more ditFicult. You ore expected lo gut farth
your Degt effort on each probiam,

"There cre & faw ganarsl rules for faling this lest thee will help you fo eorn the Best score: Work corefully and aecurately,
Do not spend doo much dlime an any prohiem yow fied porficularly difficedt. Mark rhe problam ihot you ship, leave # wnhif o,
and then go on fe the nesd geeblem, v doimg this you will moke best use of your fime. W yow work of or overoge speed yau =ill
have nifficienl hme fa read, sealyze and solwe all of the aroblems.

“Maks paur cafculations in e spoces praviced in the fed bookier. Be jure you copy your anawars comachly in Hhe dosige
nted speced.

“De yau fave ony questions?
“Fill in the data aked far an the isride of the cover page, and begin your et by reading the ietroctions immedictely Below.
"Raadil Gead kck! Beginl”
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58 APTITUDE TEST REPORT AND RATING: SHEET

i lewipies 1)
MAME DATE TESTED
Paiia Peva)
COUNTRY CODE_______ AGE________TEST ADWINISTRATOR
TIME STARTED TWE COMALETED TOTAL TIME I
SECTION | I m v v Vi
1 E 6 P I ) e ) SN ) TR e 7T
- e m 2 2 E 2 E . |E|
A [ a [a] 2 [5] » 1 [5] = (2] w [3]
4 E| + [3] « [2] « [2] n [4]
5. 5 [':1_'_] 5, E (F E|
& E! 8 E 6. 13 [4] Eﬁ
7. El 7, E 14

SUBTOTALS

WAT ACCERTNELE pOuE UL RETEPTABLE

77 - 85 ES — 1B

DIRECTICNS FOR LSS OF THE REPORT AMND RATING SHEET
. Croas ol the Dax for eoch problem whode answes o inearresl
FMOAE == In probiems ¥ and 3 of Section B, if one (I} or mare ol the three (3] answers ore mooeregd, mark the problem
wrang. & problem 14 af Sectios ¥, if oese (L) or more of the thres |3] ssesers are incorect, mork fhe prob.
lem wrong.

2 Cutereineg tne Subledal For eoch Seclion by adding the peerd waolues in the boxes trat ore not orossed oul ond then pleom
tha Taral Seare A the bon gravided,

I Determing the Dedle Roting frem ike above rablis end place @ in the hee provided.

4, Indigete your observaotions of the evominee duding Hee test in the spaces below.

5 thake o record of the Subictali and the Toral Scome dor pour Files

&. Thregs beafs gre serviglly numbered os ol feshs mesr be eccaunied for,

7. Dwatecy this dep beabled immediziely |by shredding) ond return this shear (COMPETED] o

l TEGHHIGAL T5ETRISTI0K DErARTRERT
IMTEARALTIONEL TIeEwrfag SievelE DoerErow
TeE MaTiosaL CnEM REGISTIR CORPANY
Deviom, CHia 1158 45405

QBRSERVATIONT MADE DURING THE TEST PERIOD
Ched ') e aporopriaie deliniivans which beat indicale the sxamines't oilitude erd wark hobiis.

T — Confident R 1T Tries =ery hard
——Tenan Unrespangive — Show — Werky smaarhly
— Meewpaps S 5ot o TCareless —M=cpssory o orepeat aneicedheans
I T Impgtuemt Indiftarant E\qpi'y ean feded

Qither chmvations
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